i

=3 -2 -1 0 1 2 3

50

TP n (PCA to beamline)

...................................

..............................

- [
MiEnA

|M

2 3
TP n (PCA to beamline)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew7_step2_tthar-phasel-newgeom

40

<o dxy > (um)

30

20

10

-10

Ratio

-3 -2 -1 0 1 2 3

<op/p. > (%)
S

B 21 R

832 1 0 1 2 3

TP n (PCA- to beamline)

.................................

.............................................

.............................................

[

-1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


